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QUESTION 1

An analyst wants to hide an attribute on a chart. How can this be accomplished? 

A. Right-click on the chart and choose Chart Properties. 

B. Right-click on the chart and choose Combined Properties. 

C. Select the items on the chart, right-click on the items and choose Chart Properties. 

D. Select the items on the chart, right-click on the items and choose Combined Properties. 

Correct Answer: A 

 

QUESTION 2

Which Analyst\\'s Notebook multiplicity is shown here? 

A. Single 

B. Multiple 

C. Directed 

D. Telephone 

Correct Answer: B 

 

QUESTION 3

Compared to other parts of the network, which entity has the HIGHEST degree centrality? 
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A. Jennifer REILAND 

B. Heather JACKSON 

C. Abigail ROSS 

D. Edward INGRAM 

Correct Answer: C 

 

QUESTION 4

When importing, a data source output shows columns A and B. It is necessary for Column B to be joined with Column A,
but the information in column B must appear first. With Column B selected, which of the following Column Actions can
MOST efficiently accomplish this task? 

A. Compress Columns 

B. Suffix with Another Column 

C. Prefix with Another Column 

D. Merge with Another Column 

Correct Answer: B 

 

QUESTION 5

Review the network shown here: 
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Which entity has the HIGHEST betweeness centrality? 

A. Jennifer REILAND 

B. Heather JACKSON 

C. Abigail ROSS 

D. Edward INGRAM 

Correct Answer: A 
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